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c.the probability density function of X  is  
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LetY denote the number of samples that have a proportion of impurities exceeding 0.5. 
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distribution with

Y
11

4,
16

n p   

a.  34
( 1) (1 ) 0.0839

1
P Y p p

 
    

 

b.  0 44
( 1) 1 ( 0) 1 (1 ) 1 0.9905

0
P Y P Y p p

 
          

 
0.0095

 
5.14 

 

73

71

2 73
71

( ) ( )dx

1

2
1

4
72

E X xf x

x dx

x






 







  

to compute , we first find  2( )E X
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5.22   
the probability density function of X  is  
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The mean number of minutes that Jerry is early for appointments is  
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Let X denote the travel distances, it is uniformly distributed between points and . a b
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c. For any one of the three automobiles, the probability that this automobile travel past 
the midpoint between a andb is 
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Let X denote the service times at teller windows, it follows an exponential distribution 
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